o(d dxy) (cm)

=
<

Rati

=
LUULILI S DL
Py
v
H
i
Py
T
Py
T
P
T
3
T
Py
T
"
)
T
e
T
Py
)
T

-1 0 1 2 3

|
w
N

0.95L

o(d dz) (cm)

ot-vo

Rati

1071

102k

0.95

LRI AL IS I LI I
4
2 g

3

—=— DQM_V0001_R000000001__Global__mkFit1000__RECO
—e— DQM_V0001_R000000001__Global__mkFit100__ RECO

o(d o) (rad)

[
<
N

.........................................................

......................................................

Q_%illllillllilllilllillllilllli

¥F3T =2 1 0 1 2 3

TP ® (PCA to beamline)

305

Rati

0.95

...............................

=
LB B0 LA
e
v
'
i

|
w

|
N

0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


